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Important Instructions:

The Question Paper Booklet contains 32 pages
including instructions of the Question Paper.
In all there are 200 Questions from 1 to 200
divided into A,B,C & D Sections, of which
each Section contains 50 Questions. Section
‘D’ has two Parts. In this Section Question
Nos. 151-170 are of English, compulsory for
all. For Question Nos. 171-200 candidate has
to select either Sanskrit or Hindi. Any
complaint regarding the booklet will be
entertained within 15 minutes from the
commencement of the Test.

Candidate seeking admission in Sanskrit has
to opt Sanskrit in section D. The candidate
who has applied for BOTH Sanskrit and
General also has to opt Sanskrit only.

Follow the Instructions given at the back of
O.M.R. answer sheet for filling the answers.
The candidate should fill the serial no. and
series of this Question Paper Booklet in the
OMR Answer Sheet at the proper place,
otherwise it will not be possible to declare the
result and the responsibility for the same will
be of the candidate.

NOTE:

All the questions are compulsory.

Each questions carries 3 marks in section A, B
& D and marks for section C will be 3,2,1 and
(0 in the preference order.

No Negative Marking will be done.
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Part-A/A911—31
MENTAL ABILITY/ 9r<=iflie ai3adr

Directions (Q. No. 1 to 3):
In each of the following questions, a set of figure carrying certain characters is given. Assuming
that the characters in each set follow a similar pattern, find the missing character in each question.

e W¥. 1 9 3)
T & Ty e # udS gl H A= siwi w1 WHE 81 I8 doddr dIvie fb ais
e {30 Mlad Ued & e 8T & S @l & H Wd gU UD U3 B Bel 83N b w1

BHIFSTY |
1.
4 7
5 1 64 \ 3
11
(A) 0 (B) 8 (C) 125 (D) 216
2.
5 6 6 7 4 8
4 5 10
(A) 14 (B) 22 © 32 (D) 320
3. ()
O ®
()
(A) 123 (B) 124 @ 122 (D) 112
4. There are five different houses A to E in a row. A is to the right of B and E is to the left of C

and right of A. B is to the right of D. Which of the houses is in the middle?

(A) A (B) B © C (D) D

urg faf=1 " A W E fbdfl Us dfdd H €1 A, B ® SR 2 IR E, C & a1 I A &
S €1 B,D & TR 8| BT HbH Hed H &7

(A) A (B) B Q) « (D) D
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5. In an examination Raj got more marks than Mukesh but not as many as Priya, Priya got more
marks than Gaurav and Kavita. Gaurav got less marks than Mukesh but his marks are not the
lowest in the group. Who is second in the descending order of marks?

(A) Priya (B) Kavita (C) Raj (D) Mukesh

el oien & 1 7 oy 9 TET i W< [HA <Afhs saw T8 v B |, O 7 dika
3R HfIdr | &1 3 U B | TRT 7 gou 9 $H 3d U< B Afss 9 e a9z
H Had B9 TEl & | 3Dl Bl gfe A Fed HH H SEM TR DI gER WA TR AT |

(A) frar (B) far (©) ¥t (D) HBA

6. Looking at a portrait of man, Harsh said, “His mother is the wife of my father’s son. I have no
brother and sister”. At whose portrait was Harsh looking?
(A) His son (B) His Cousin
(C) His Uncle (D) His nephew
U AEH & s BT 3R <@d gU BY A Byl “SHD! AT W Al & g @l ufeq 21 W
I 9IS a7 989 e 217 &Y fa RF 9 &R <@ var ar?

(A) SHD gF DI (B) SUD TR IS B
(C) Sq® Il B (D) SHD HAlS B

7. By selling an article for X 110, a man loses 12%. For how much should he sell it to gain 8%?
(A) %120 (B) 125 @ T135 (D) %140

el a%g @I 110 IH &= WR 12% ! B Bl & | 89 O] U 8% T o9 o1 & oy S
b= v9d # =1 We?
(A) X120 (B) 125 (C) 135 (D) 140

8. The price of an article has been reduced by 25%. In order to restore the original price, the new
price must be increased by how much percent?

(A) 12% (B) 33%% (C) 25% (D) 30%
fodl 98] &1 &I 25% ©e Al & | 39 T Jed H o ufcerd &1 gfg @1 oe & g

7l T 8 SY?

(A) 12% (B) 33%% ©) 25% (D) 30%
9. If EAT is written as 22 26 7, how will you write LIP?
(A) 151416 (B) 141710 () 91211 (D) 151811
IJfe EAT & 22 26 7 for@r Si¢ @ LIP &1 &9 forar Sigan?
(A) 151416 (B) 141710 @© 91211 (D) 151811
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10.

11.

12,

13.

14.

15.

16.

17.

Mohan is 4 times as old as Shyam. If the difference of their age is 9 years, how old is Mohan?
(A) 15 years (B) 12 years (C) 14 years (D) 9 years

HIEd @I Y WM IR AT 2| A I BT AP BT AR 9 I &I Al /e fbad a9 &7
27

(A) 15 99 (B) 12 99 (C) 14 99 (D) o9 ay

Directions (Q. No. 11 to 15):

Identify the logic between first two terms of left side portion of sign :: in following questions
and apply same logic on Right side portion of sign :: and find correct alternatives for each
question.

fader (0. 9. 11 9 15) -

A oy T ueHl § e () @ 9 OR% S US ® " dd Bl URdiY 98 dd gdd
e § g (x) @ SR dRW dTel QM1 Y&l R AN R TS U B foly 9l Adheu &1 a9
B |

ACE : ZXY :: FHJ :

(A) SOQ (B) USP (C) TRP (D) USQ
BYW :DWU :: FUS :

(A) HSQ (B) EST (€C) GST (D) ESQ
MORE : NNSD :: CRAW :

(A) DQAV (B) DAPQ (C) DQBV (D) GQAL
MONKEY : XDJMNL :: TIGER :

(A) QDFHS (B) SDFHS (C) SHFDQ (D) UJHFS

CIGARETTE : GICERAETT :: DIRECTION :
(A) RIDTCENOI (B) NORTECDII (C) NOIETCRID (D) IRDCTIONE

If air is called green, green is called blue, blue is called sky, sky is called yellow, yellow is
called water and water is called pink, then what is the colour of clear sky?

(A) Blue (B) Sky (C) Yellow (D) Water

HET S¢ AT Gl /ATH AR BT [T FAT BRIT?

(A) T (B) ST (C) drerm (D) U™l

In a certain code ‘786" means ‘study very hard’, ‘958" means ‘hard work pays’ and ‘645’
means ‘study and work’. Which is the code for ‘very’?

(A) 8 (B) 6 <) 7 (D) 4

foreft fAf¥aa are § '786° @1 TSI IR B ‘958" DI ‘BS ddb UG’ AR ‘645 P IS UTS
g’ el S¢ I N B foy Far Bre g8rm?

(A) 8 (B) 6 XC} 7 (D) 4
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18.

19.

20.

21.

22.
23.
24.

25.
26.

27.

If 15 January 2004 was a Sunday then what was the day of 15 January 2003 -

(A) Monday (B) Saturday (C) Friday (D) Tuesday
Ife 15 AT 2004 BT fAAR AT AT 15 AR 2003 DI FT IR BATT?
(A) |HAR (B) wifar (C) ghdR (D) HTeAR

Directions (Q. No. 19 - 21):

In the following questions, three of the four are alike and so form a group, which is the one
that does not belong to that group?

fAder : mE. 19 — 21):

Frrifre el 3, @9 3 W IR b ok & ol S Th g 9 €| P & o 6
BT el &7

(A) Parrot (B) Koel (C) Vulture (D) Swan

(A) qrar (B) drIw C) firg (D) &9

(A) Haryana (B) Gujarat (C) Kerala (D) Maharashtra
(A) =R (B) ORI (C) @ (D) HERTS
(A) Potato (B) Coriander (C) Ginger (D) Onion

(A) 3fTe] (B) eferr (C) 3P (D) @IS

Directions (Q. No. 22 - 25):

In the following questions, choose the odd numeral pair.
fader - (wH. 22 — 25):

f=ifd oeml 4, ofel & fava g @1 fafea S|

(A) 140-45 (B) 110-35 (C) 100-30 (D) 80-25
(A) 133-98 (B) 150-115 (C) 182-40 (D) 188-153
(A) 12:96 (B) 13:117 ) 15120 (D) 16:128
(A) 15-46 (B) 12-37 (C) 9-28 (D) 8-33
College is related to student in the same way as Hospital is related to............ ?
(A) Doctor (B) Nurse (C) Treatment (D) Patient
AETfdenad &1 faemil & a1 € Hdg & S SR &7 oo | 7?

(A) SfdeR (B) =4 (C) sz (D) rf
Signal : Traffic :: 7: ?

(A) Dam : River (B) Lens: Light

(C) Door: House (D) Operation : Doctor

Rrerer @ ¢fthap = 2 - ?

(A) dfer : 77T (B) <9 : BT

(C) TRATST : HbTH (D) 3iOReH : Sfdex
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28.

29.

30.

31.

32.

33.

34.

35.

36.

MXxN:13x14::FxR:?

(A) 7x19 (B) 5x17 (C) 14x15 (D) 5x18
BUCKET : ACTVBDILDFSU : : BONUS : ?

(A) ACMNMOTVRT (B) SUNOB

(C) ACNPMOTVRT (D) ACMNMOTURT

If in a certain language A is coded as 1, B is coded as 2 and so on, how is BIDDIC coded?
(A) 294493 (B) 284563 (C) 375582 (D) 394492
Ife fodl wT § A @1 &2 1 8, B &I &2 2 & 3R 3 1 ¢d &1 8, dl BIDDIC &1 &g

T BMIT?

(A) 294493 (B) 284563 (C) 375582 (D) 394492

If A is to the south of B and C is to the east of B, in which direction is A with respect to C?
(A) North—East (B) North—West (C) South—East (D) South—West

T ABDIRIALTIRC,B S @ H & dl A,C D dayg H o fem # &7

(A) STR-T4 (B) StR—uRe® (C) T@v—gd (D) <fEo—uf=wm

One evening before sunset two friends Rakesh and Rahim were talking to each other face to
face. If Rahim’s shadow was exactly to his right side, which direction was Rakesh facing?

(A) North (B) South (C) West (D) Data inadequate

UdH WM B AR H T8l &I S IHY AR EH AFF—AH T G ¥ a1 &R © o |
I B B URBTS UheH I9d e AR off af vy g feem & |m= o

(A) ST (B) =féror (C) uf¥=H (D) @A AT
5,7.10, 15,22, ..ccoins

(A) 31 (B) 32 (C) 34 (D) 35

703, 655, 607, 559, 511,463, ...........

(A) 413 (B) 414 (C) 415 (D) 416

A father is, at present, three times as old as his son. Five years back, he was four times as old
as his son. Find the age of his son -

(A) 12 years (B) 15 years (C) 18 years (D) 20 years

Uep O, adar H, U YF | 9 o ds €| UrE 9y gd d U gF A AR O 93 o |
TF DI MY R®T 77

(A) 12 99 (B) 15 a9 (C) 18 a9 (D) 20 99
If5%x9=144;7x8=151 ;4x6=102,then 2X S5 =.......... fd

(A) 77 (B) 97 (C) 107 (D) 73
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37.

38.

39.

40.

Directions (Q. No. 37 - 40):
The figure given below consists of three intersecting circles which represent sets of students
who play Tennis, Badminton and Volley Ball. Each region in the figure is represented by a
small letter. On the basis of the figure, answer the questions given below.

P

e %A
vo(LVLEYgA;L
forder : (4. 37 — 40) :

SR A TS Epfa d AW rdfdwere g €, S fenfii & wiEl @ sfa #Rar § S
ofe, Sefires ok dfcfidta Wed 2| amafa ¥ Ry U yQe &3 & U BIeT 3MeR Jard
2| AP & MR W =i Y 7Y geAl & IR AT |

Which letter represents the set of students who play all the three games?

BADMINTION
(ssfire)

(A) b (B) ¢ © f D) g
DT e e & I9 W &I <A & Sl diFl Wd Weld 8°
(A) b B) ¢ © f D) g

Which letter represents the set of students who play Tennis and VolleyBall but not
Badminton?

(A) g (B) e © c D) b

ST JeR faenfial & 99 g &I qWiAT & I <N iR dfefldfd Weld & W defied
TEI?

(A) g (B) e ©) ¢ (D) b

Which letter represents the set of students who play Tennis but neither Badminton nor Volley
Ball?

(A) a (B) b © c (D) d

DT IR e & S9 g & quidr & & <9 Wod & W A1 dr defie ok A
gl dicfldiel ?

(A) a (B) b () < (D) d

Which letter represents the set of students who play Tennis and Badminton but not Volley
Ball?

(A) b B) ¢ (C) d (D) f

DIl der el @ I8 |gg & quiar & o A9 &R defied Wed § W dfefidtar
BE

(A) b (B) ¢ (C) d (D) f
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41.

42.

43.

45.

46.

Directions (Q. No. 41 - 43):

In a school, there were five teachers. A and B were teaching Hindi and English. C and B were
teaching English and Geography. D and A were teaching Mathematics and Hindi. E and B
were teaching History and French.

fader - (wH. 41 — 43) :

U faener # ura e o | A iR B &= iR 3iUsi Ugl %8 | C iR B 3RS 3R 7
Uel %2 9| D 3R A 7o &R @€Y uer %2 2| E ik B fiem iR we gl %& 9|

Who among the teachers were teaching maximum number of subjects?

(A) A ©) € (D) D

el # ¥ srferaaH ﬁmu aﬂ—rr UeT X8 U?

(A) A (B) B <y C (D) D

Which of the following pairs was teaching both Geography and Hindi?

(A) Aand B (B) Band C (C) Cand A (D) None of these

=1 | B e iR R ] uer w® oY
(A) A3MRB (B) B3R C (C) C3RA (D) TTH W P T8l

More than two teachers were teaching which subject?

(A) History (B) Hindi (C) French (D) Geography
Tl ¥ e et e fawy uer <7 o
(A) sfaems (B) f& (C) wd (D) el

Directions (Q. No. 44 - 45):

Arrange the given words in a meaningful sequence and identify the most appropriate sequence
from amongst the alternatives.

fader - (WH. 44 — 45) :

fay g vt @1 U reiyei HH A SHed iR Ry 1Y fAdeni H ¥ walfdd Sugad HH Bl
fafga S|

(i) Appendix (i1) Contents (ii1) Title

(iv) Chapters (v) Introduction

(A) iii,ii, v,i,iv (B) i, i, iv,v,i (C) v, i,iv,ii, 1 (D) iii, i1, v, 1v, i

(i) uRRmMe (i)  SrgeHHfoTeRT (iii)) P

(iv) 3y (v) uR=

(A) iii,ii, v,i,iv - (B) ii,iii,iv, v,i (C) v, i,iv,ii, 110 (D) i, i1, v, iv, 1

(1)  Punishment (i1)  Prison (i11)  Arrest

(iv) Crime (v) Judgement

(A) v,i,ii,iii, iv ~ (B) 1iv,iil, v, ii, i (C) iv,iil, v,i,it (D) ii,iii, 1, 1v, v
(i) 9ol (i) ®a (i) PREAR

(iv) 3TARTET (v) faofa

(A) v,i,1i,1ii,iv ~ (B) 1iv,1ii, v, i, i (C) iv,ii, v, 1,1t (D) ii,iii, 1,1v, v
How many times in a day, the two hands of a clock are at 90°?

(A) 4 (B) 12 < 22 (D) 44

e fom § fha aR, T @ <7 81T 90° WR B &Y

(A) 4 B) 12 (C) 22 (D) 44
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47.

48.

49.

50.

Directions (Q. No. 47 - 50):

In each of the following questions, two statements 1 and 2 are followed by two conclusions 1
and 2. Read the conclusions and then decide which of the given conclusions logically follows
from the two given statements.

(A) If only Conclusion 1 follows (B) If only Conclusion 2 follows

(C) If either Conclusion 1 or 2 follows (D) If neither Conclusion 1 or 2 follows

fder - M4, 47 — 50) :

A AT 70 URAF u H HUF 1 3R 2 & 9% Y 1 &R 2 2| el @1 afey SR
faofa e fo e sy fRT 10 Q) weMl & QMR R q@HeTd 2 |

(A) AT ®aa frpy 1 981 8 (B) ufe ®aer frepy 2 w2 2
(C) afe fospd 1 a1 2 w2 & (D) 3afe fAepy 1 3R 2 TH1 Tord &
Statements : 1. All fans are watches.

2. Some watches are black.
Conclusions: | All watches are fans.

2. Some fans are black.
BAA : 1. w4 U, ufedr 2

2. §HB afedl el 2|
fAreepd 1. |4 afsdl o 2|

2. BB UY A B |
Statements : 1 All grasses are trees.

2. No tree is shrub.
Conclusions: 1. No grasses are shrubs.

2. Some shrubs are grasses.
HAT 1. o 9N g8 B |

2. IS &1 SSI A8l B |
frysepe 1. DS OT9 IS T8 B |

2. HB el 919 B |
Statements : 1 Some boys are thieves.

2. Some students are boys.
Conclusions: 1 Some boys are dacoits.

2. All dacoits are boys.
U 1. Y dD dAR B |

2. T wed faemdt ¥
o 1. B IH A ¢ |

2. O ST ASD ¥ |
Statements : 1 No man is a donkey.

2. Rahul is a man.
Conclusions: 1.  Rahul is not a donkey.

2. All men are not Rahul.
B 1. HIg ) et Mo A 2

2. Igd SeH B |
fend 1. Igd T T8l 7 |

2. 91 IrTeHl g T8 B |
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S1.

52.

53.

4.

5S.

56.

57.

58.

Part-B/91iT—4
GENERAL AWARENESS RAJASTHAN/MTHT _SITH_ITSIRATA

‘Hela Khayal Dangal’ is famous in which district of Rajasthan?

(A) Dausa (B) Jaipur (C) Bikaner (D) Pali

BT TS GiTal’ o= & fod el # ufig 87

(A) < (B) SR (C) dHR (D) Tl
‘Pichwai’ art is related to-

(A) Meera bai (B) Ram-Sita (C) Mahadev (D) Shree krishna

fUBas’ ol THEEd 38—
(A) HRMEE A (B) WW—{lar ¥ (C) #Hered 9| (D) #Hwr |

According to 2011 census the lowest density districts in Rajasthan are-

(A) Barmer - Bikaner (B) Jaisalmer - Barmer

(C) Jaisalmer - Bikaner (D) Jaisalmer - Churu

2011 &1 SIETOET & STTAR IS § A9 8-cd aTel forel 8—

(A) TSR — dHR (B) IR — dTSHR

(C) SR — PR (D) SR — TH

The first wind power plant of Rajasthan was established in-

(A) Amarsagar - Jaisalmer (B) Bithadi - Jodhpur

(C) Devgarh - Pratapgarh (D) Mohangarh - Jaisalmer
RISTRIE 6T UM Uad Soll a3 Jerfud fhar 1 on—

(A) SFRYETR — SIAeR (B) dosl — SEgR

(C) TqTE — UATITS (D) HIETTG — SIge™N

‘Bari’ ornament is worn in-

(A) Neck (B) Nose (C) Ears (D)  Wrist
IR’ JATYT YT STl &—

(A) et H (B) & H (C) & H (D) Perrs H
Where did the reign of Maharana Pratap take place?

(A) Chawand (B) Gogunda (C) Udaipur (D) kumbhalgarh
HERIUT Y19 1 RTSIdeld dHal gall oq1?

(A) dTES (B) IIR[=T (C) STIR (D) HRIATS

Name the person who was expelled by Ratan Singh from his court and later he went on
asylum to Alauddin khilji-

(A) Sunder lal (B) Madan lal (C) Raghuji (D) Chetan Raghav

9 AfdT 7 A gasd O IqERIE T Y SXaR W drer fRIr o, g 91 § a8
ATSE Raefoll HI TR H FAT 7|

(A) g=x ol (B) HEAATA (C) goll (D) Tdd ITEd
‘Bhomat’ area in Rajasthan is related with-
(A) Udaipur (B) Banswara (C) Bhilwara (D) Alwar

ST H “IHe’ &7 AT 8—
(A) SR ¥ (B) 9i<arsT & (C) Hiaarer (D) *eaR |
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59.

60.

61.

62.

63.

65.

What was the name of first Rajasthani film?

(A) Nijarano (B) Babasa Ri Ladli

(C) Bai Chali Sasariye (D) Mhari Pyari Chanana
YorH ITSTRATI fthed &1 A9 T oO1?

(A) oMl (B) 9&ETET I TSl

(C) 4913 el AR (D) =R AR =TT

Who took oath as Chief Minister of Rajasthan maximum number of times?
(A) Mohanlal Sukhadia and Haridev Joshi

(B) Haridev Joshi and Bhairon Singh Shekhawat

(C) Bhairon Singh Shekhawat and Hira Lal Devpura

(D) Shivcharan Mathur and Haridev Joshi

RIGIRIE & JHAl & & H gaid aR 9 fdbe- ofi?

(A) Hig-ellel gE$AT vd eRad Sireh

(B) &R<aa Wih vd #RIRfE Iramad

(C) IR IEad Td ERTATA SayRT

(D) Rrg=ror 7R vd gRaa e

Degana region is known for which mineral in Rajasthan?

(A) Manganese (B) Coal (C) Tungsten (D) Iron ore
AT & XTSI H fd @it & forg S S 27

(A) TS (B) ®rIem  (C) A (D) diiE 3 %H
Who is known as ‘Gandhi of Rajasthan’?

(A) Bhogi Lal Pandya (B) Gokul Bhai Bhatt

(C) Janki Lal (D) Damodar Vyas

ORI & R & w9 H {6y ST Srem 87

(A) 4rfY et gusar (B) idzel WIg wE

(C) W& AT (D) THIER ™

Where is the only bird hospital of Rajasthan?

(A) Jaipur (B) Ajmer (C) Kota (D) Jodhpur
IR &1 THHrE velt fRifdcdrera saf 87

(A) SREYR (B) R (C) ieT (D) SIEYR

What is ‘Lag —bag’?

(A) Name of bird (B) Tax levied on farmers

(C) Name of cannon (D) Name of elephant of Man Singh
AR — 91T &7 8°

(A) fafsar &1 = m (B) frami R RIfdd &)

(C) @MU &1 9™ (D) \FRIE & g1l &1 9
Rajasthan in its present shape came into the year-

(A) 1956 (B) 1957 (C) 1958 (D) 1959
RISTRRIT 3 A WY H 3777 & g¥—

(A) 1956 (B) 1957 (C) 1958 (D) 1959
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66.

67.

68.

69.

70.

71.

72.

73,

Word ‘Rajasthan’ was first used by historian known as-

(A) Tod (B) G.NSharma (C) G.C.Pande (D) Satish Chandra
&g TSR BT Ugell IR HAeT, 4 sfagraer g1 far mar—

(A) cfe (B) SHwa. i (C) St L wis (D) AT O
Kali banga, an old historical site is located in the following district of Rajasthan :
(A) Bikaner (B) Ganganagar (C) Barmer (D) Jodhpur
HTeiE, il Uep UfRTRies I ©, 98 R & b forel # fRerd 8-

(A) dBeR (B) TR (C) d=WR (D) SR
The copper culture signs are available in the district of-

(A) Udaipur (B) Kota (C) Bundi (D) Alwar

am gwpfa & e fea e § Suaer 8-

(A) SEIR (B) leT (€) T (D) AR
The seervi, caste is in agriculture, they are found mostly in the district of-

(A) Kota (B) Jaipur (C) Jodhpur (D) Bharatpur
Ry Sfy & & o 2, 3 s few R § o o 8-

(A) ®IeT (B) SR (C) SR (D) WRAR

Sisodias of Mewar were regarded as-
(A) Suryavanshi  (B) Chandravanshi (C) Agnivanshi (D) Nagvanshi

Aqre & faifeamsti & 7= AT Siran 8—

(A) ggaen (B) dsash (C) srftasht (D) =g

The first formal grammar of Rajasthani was written by the following -

(A) Jayasimha Siddharaja (B) Udyotan Suri

(C) Bhoja (D) Hemachandra Suri

TSTRATT B Ugell / 3NgarRe aATteRer fordy T8, 791 & gR1—

(A) g Ry RegRran (B) AT

(C) et (D) BFa= I

Who among the following is a famous singer of the Jaipur Gharana of Music?

(A) Bhim sen Joshi (B) Jasraj (C) GirijaDevi (D) Malikarjun Mansur
Gl & SAYR R @ URig AaeR B SM S 8-

(A) WHAT el (B)  STERTS (C) RS @t (D) AfTPGT A=
Phad paintings of Rajasthan belong to the following school of paintings-

(A) Jaipur (B) Kota (C) Mewar (D) Bikaner

ST &1 B8 REaR), TEde & 59 wma 9 ! e

(A) SR (B) et (©) #ars (D) dIPTR
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74. The Kalbeliya dance is from which district of Rajasthan -

(A) Jodhpur (B) Udaipur (C) Alwar (D) Jaisalmer

Bl 9 o™ & fba el 9 58—

(A) SIRIgR (B) SEIR (C) 3R (D) SR
75. Bagaru print is from the following part of Rajasthan -

(A) Jaipur (B) Bharatpur (C) Jhalawar (D) Nagaur

I B BUTE IRIH & 5 R I 8-

(A) SRR (B) *RAR (C) #emars (D) TR
76. Bala Qila is located at-

(A) Jalore (B) Sawai Madhopur (C) Alwar (D) Baran

qren e dal Rerd 8—

(A) TITER (B) wars 9RIgR  (C) 3TefaR (D) d9RI
77. Who is the longest serving Chief Minister of Rajasthan -

(A) Tika Ram Paliwal (B) Vasundhara Raje

(C) Ashok Gehlot (D) Mohanlal Sukhadia

ORI H e of 99 O fhas] 03! U8 W o fdhar a—

(A) SBRM Yreirard (B) dgERT 3T

(C) oE® e (D) HiETard gaErsar
78. Daulat Ram Saran was addressed in Rajasthan as-

(A) Mahatma (B) Kisano ka Messiah (C) Babuji (D) Raja

SleTd XM AR Bl o H FRIfed fhar Sidr o I8 dEdi—

(A) HETH (B) fhami &1 w=iler  (C) g S (D) XIS

79. Rajasthan Vikas Party was established by-

(A) Brij Mohan Lal Sharma (B) Buta Singh (C) Heera Lal Shastri (D) Chhotu Ram

IR fadT urdt @l emuEr &1 ofi-

(A) domHIEd drdd oMl (B) der Rz (C) X1 &l ol (D) BICY™
80. Who is the speaker of 14" Vidhan Sabha in Rajasthan -

(A) Sumitra Singh (B) Ram Niwas Mirdha

(C) Kailash Meghwal (D) Shanti Lal Chaplot

1491 IR’ AT\ & |EMIfT B 87

(A) g Rig (B) ¥ fama Al (C) e Auarer (D) Infdeltadl auatid

81. How many periods of rainfall are there in Rajasthan?

(A) 2 B) 1 € 3 (D) 4
ORI H aul &1 99 fahdel aR BreT 87
(A) 2 (B) 1 (C€) 3 (D) 4
82. Indira Gandhi canal was necessitated by-
(A) Rains (B) Winter (C) Water Scarcity (D) Hot summers
SeRT ATl ER B SMaeIDAl go—
(A) T ¥ (B) Wl ¥ (C) Ul & 3Ma ¥ (D) Afed TH o
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83. River Luni originates from the following district -

(A) Nagaur (B) Ajmer (C) Tonk (D) Churu

AT AT BT SeH i, fE Rrel A 8-

(A) MR (B) 3R (C) <Tid D) TI&
84. Famous Chand Baori is located in the district of-

(A) Kota (B) Bharatpur (C) Alwar (D) Dausa

g dfe 9as! Rea g, = e #

(A) BIeT (B) #RAYR (C) reTeR (D) R
85. Which city in Rajasthan is called ‘Blue City’?

(A) Udaipur (B) Ajmer (C) Jodhpur (D) Bikaner

o H {6 WER DI el WY HEl Sl 87

(A) STIR (B) 3SR (C) SIEgR (D) dIHR
86. Garden Bada Bagh is situated at-

(A) Jaisalmer (B) Bhilwara (C) Jhalawar (D) Hanumangarh

e g1 1T Rerd 28—

(A) SRR (B) rerarst (C) SITeIars (D) EEAFTG
87. Vijay Singh Pathik, a freedom fighter of Rajasthan, published a newspaper, known as-

(A) Rajasthan Kesri (B) Navin Rajasthan (C) Prabhat (D) Rajasthan Patrika
o Rig ufde, IR & w@a=al 94, S dh GHER 99 Seren, S g9 T |
SITHT SITdT &T—
(A) ISR I (B) -4 o« (C)  9H9Td (D) XTSRRI Uit
88. Habib Tanvir’s Film Charan Das Chor was written by which Rajasthan writer.
(A) Malchand Tiwari (B) Harish Bhadani
(C) Vijay Dan Detha (D) Arjun Deo Charan
g9 THIR @1 fhed TRAST IR VoA & b oikgd g1 fordt 18?
(A) Hrerde faar (B) &I HraTl
(C) fasa g™ Qo (D) IS <d TR
89. Who among the following was awarded Padma Vibhushan from Rajasthan?
(A) Komal Kothari (B) Vijay Shankar Vyas
(C) Natwar Singh (D) Naresh Chandra
oI H 1 4 9 6 uge fangor & w=afea faar T —
(A) DH DISNI (B) faorg iR aad
(C) e Rig (D) NI T=
90. Kamlesh Nagar Koti played for India Under 19 Cricket World Cup in the year -
(A) 2016 (B) 2015 (C) 2018 (D) 2014
FHHAY AR PIfe HRA 3SR 19 & favg & # Werr g, f= ad § —
(A) 2016 (B) 2015 (C) 2018 (D) 2014
91. In Arid Desert of Rajasthan, India shares international borders with -
(A) Nepal (B) China (C) Pakistan (D) Afghanistan
RIS & Y AR | 9RA (U] SRS AT TS Rl &, (31 & 37er —
(A) wuTe B) == (C) TIfehT (D) AR

NKP-2018 (Series-A) Page 14 of 32



92. North Aravalli Region of Rajasthan include the following district -

(A) Dausa (B) Sirohi (C) Ajmer (D) Tonk
SR IR &3 § o &1 = fyem afafera & —
(A) <rdr (B) RRIE (C) 3R (D) <i®

93. Panchayati Raj system in India was inaugurated in Rajasthan at Nagaur in the year —
(A) 1958 (B) 1959 (C) 1957 (D) 1956
AT IISTaReN BT 3R YR H, IR & AFIR A {59 a9y # gar?
(A) 1958 (B) 1959 (C) 1957 (D) 1956

94. Traditional leader of Meena community is known as -
(A) Patel (B) Bhagat (C) Karma (D) Mukaddam
AT WHER BT IRFRETG AT 39 9 A ST Sl & —
(A) ucd (B) wd (C) @Al (D)

95. National High Way 8, which connects Delhi with Mumbai, passes through Rajasthan. It runs
into how many kilometres in Rajasthan?
(A) 700 (B) 560 (C) 688 (D) 720
I AR AT 8 Sl fdeell df gRE 9 Siiedl B YORAM W JoiRdl 2| I8 e H
faer fabell Wex &1 27?

(A) 700 (B) 560 (C) 688 (D) 720
96. Central University was established in Rajasthan in year —
(A) 2007 (B) 2008 (C) 2009 (D) 2011
RIS H Sy faed faermery &1 Ru=m gg ay —
(A) 2007 (B) 2008 (C) 2009 (D) 2011
97. Sahitya Academy, Delhi award for Rajasthani in 2017, was awarded to -
(A) B.L.Vyas (B) Ambika Datt (C) Hetu (D) Neeraj Dalia
gy 2017 BT W2 fBIeH!, faeell BT ISR BT GRIBR fbd el —
(A) 9. va. @ (B) 3ifddr g4 (C) =g (D) AR Srferar
98. Banasthali Vidyapeeth was established in the following year —
(A) 1934 (B) 1935 (C) 1936 (D) 1937
geRered! faemdie @1 wermuer e ad | g8 —
(A) 1934 (B) 1935 (C) 1936 (D) 1937
99. Who was the first Woman Chair Person of Rajasthan Human rights commission?
(A) Kanta Kumari Bhatnagar (B) Prabha Thakur
(C) Narendra Kanwar (D) Usha Meena
RISTRIT HHATEdGR IRINT &I Ugell Afel fedel div ofi?
(A) I HARI HSATR (B) 94T STaR
(C) = BN (D) ST Hioy
100. The first Woman Chief Secretary of Rajasthan was -
(A) Meenakshi Hooja (B) Kushal Singh
(C) Otima Bordia (D) Amarjeet Kaur
ISR Dl YH Higell §&4 wfed off —
(A) ¥l g (B) purdt Rz
(C) aiiferam qifdn (D) SRS DR
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101.

102.

103.

104.

105.

Part-C/91T—4d
Teaching Aptitude / Rreror_sif¥esar

For a teacher to make a place in society -

(A) Must stay in political party.

(B) Must fulfill his obligation.

(C) Keeping one self active in the activities of society.
(D) Accumulating more money for becoming influential.

RreTs &1 qHTST | WIH 99 B ol —

(A) &t Iomfas ordt # &= anfed |

(B) 3+ <1f¥ca &I e = |

(C) wHTSl &f wfafaferal & s &1 |fthy e =nfad |

(D) 3ifSrd N IfSd a9 AT B AU YHIG Bl 9T ATy |

As a teacher, you would like to devote your evening time to what work?
(A) In discussing politics (B) In entertainment work

(C) In other activities to earn money (D) In social work

U SIS B B9 | MY U MW &7 979 b wraf § an g avar?
(A) TSI @1 =@t d A (B) HARSH Al #

(C) = uiftd & 3= Hraf | (D) wmEIfSTE Hraf §

A successful teacher is one who -

(A) Gives good marks (B) Checks homework regularly

(C) Keeps strict discipline (D) Remains aware about the progress of students
Ahel e a8l 8, S —

(A) 3 b T 2| (B) frafyd Teard <wEar 2|

(C) HOR AT I&T & | (D) BET P Wfa & ufad ol &dr 2 |

Which of the following criteria would you follow when punishing students -

(A) frequency and seriousness of offence.

(B) equal punishment for all without discrimination.

(C) only the seriousness of offender.

(D) only the frequency of offence.

39 BTAT ®I 08 od AqY 7 A 9§ {59 Amuevs &1 ured H¥?
(A) SURTY T 3Mgfa Td THRET

(B) f3=1 fo=lt Wgwma & ) &1 9\ gvs

(C) ®ael AR B THRar

(D) e AR Bl IAGHRT

If a student regularly comes late in school then you will -
(A) Complain to his parents (B) Find out the reasons
(C) Remove student from school (D) Punish the student in front of all students

gfe v BHE AR eney # fade & aar 8, 9 —
(A) S9P AfED I Brerd x| (B) $HD BRI BT YT IR |
(C) ®TF &I [Aemem | Aare < | (D) |4 BT & AT S gfvsd BN |
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106. When would you like to take additional responsibility as a teacher?

(A) For new knowledge (B) For praise
(C) For promotion (D) For Co-operation
R1eTd & wU H MU FH9 ARG IR o AT ?
(A) T FE B o (B) wzir & ford
(C) vsEfy & for (D) &A@ ford
107. The best way to create awareness is through-
(A) Family (B) Society
(C) Books (D) Companion
oAl U1 HRA & ol HalaH arE ® —
(A) uRar (B) HTS
(C) Y& (D) T i
1|, Sp— helps to increase the general knowledge of the teacher -
(A) Students (B) Fellow teacher
(C) Newpaper-Magazines (D) Family members
JETID DT AHAI— qeT H F8ID & —
(A) BH (B) el sreumgd
(C) 9z—YfFepTd (D) uRAR S+

109. Main objective of education is -
(A) Development of language skills (B) Development of Social Citizenship

(C) Give punishment (D) Personality development
e &1 v T Igew B —
(A) T9T DIl BT fdbTd (B) ™IS ANTRGAr &1 faabrd
(C) TU$ =& (D) wfdad fawra
110. Successful leadership is -
(A) Democratic (B) Monarchic
(C) Group based (D) Dictatorship
AHA Aged BT & —
NI SIGIEED (B) ISTCi>®
(C) 8 mRd (D) RIS

111. Teachers in the teaching profession do tuition because -
(A) Students force them to do this.
(B) Their greed for wealth has increased.
(C) Their Salary is low.
(D) With growth in their knowledge they want to disseminate it.
eI e # s <geE aRd 7, Jife —
(A) BTF I8 QAT XA & ford ared &l 2 |
(B) SHADI FF—alTeludT ¢ T T |
(C) S9HT da= &Y 2 |
(D) WA & o9 ¥ Afglg 8 9 T U9 9 & TR HRAT A8 2 |
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112.

113.

114.

115.

116.

117.

The education given to the students by the teacher should be :-

(A) Professional education (B) Scientific education
(C) Related with Culture and spiritual (D) All above

et gRT BT @ &1 I areft e f 9 Gdfea 8 anfey —
(A) e el 8 (B) a1 BT

(C) ARplA U4 AT ¥ Haferd & (D) Sydad w4

Depends on the teacher’s awareness -
p

(A) Teacher’s knowledge (B) Teacher’s financial Status
(C) Teacher’s popularity (D) Teacher’s Resourcefulness
TS B SITHHAT R R Hxar & —

(A) SATIH B S (B) 3=AUd @ amiYe Reafd
(C) 3D Bl =TT (D) SIS B FAagerar

If there is a political debate, then you -

(A) will actively participate (B) will enjoy

(C) will be one sided (D) will not pay attention
IfE HET ISHIaS 989 8 8l &, Al 3 —

(A) afsha wrT < (B) Mg i

(C) &< U uer &I IR &I (D) €I T8l |9

All round development of students can be done -

(A) By providing education facilities

(B) Through realisation of Social Responsibility

(C) By considering the interest of students themselves

(D) By giving them money

BTE1 &1 |qaiior fawr f&ar o7 waar 8 —

(A) fRregor gfaem qax (B) AMINTG STRIT &1 a1 HRIdD
(C) BE H W & fod &1 99 qax (D) SHDI € bR

The leader of the group can only give successful leadership when he will :-
(A) Be patient (B) Be disciplined
(C) Be serious (D) Berich

B BT A1 T Ihel g < GHhdT ®, 99 I8 —

(A) eI B (B) IR &
(C) TR & (D) T &8I
Complex and difficult subject matter should be taught -

(A) According to students (B) In Sections
(C) Afterwards (D) In between
Sifed T Hfe favgawy &1 R S wnfd —

(A) BHEl & JTAR (B) wvsi H

(C) 9 # (D) dra—dr= §
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118.

119.

120.

121,

122.

123.

124.

The best way of studying evils in the nearby society is by-

(A) Contact with students (B) Contact with parents

(C) Social survey (D) Book study

Rrve W § e qRISAT BT eFTT B BT FARH A & —

(A) BTEl 9 |9 (B) SfvrEa®! ¥ HudH

(C) wHIfTS deror (D) T&Id AqTT

Effective decision making depends on -

(A) Leaders (B) Members

(C) Both Leaders & Members (D) Interactions between the two
gt fofa—fAmfor R @var & —

(A) 9T W (B) SR W

(C) ¥dT U4 9ew, TF IR (D) <& & Teg afa: foham wR
I often get angry when people -

(A) Do not agree with me (B) Talk about their own interest
(C) Blame some innocent (D) Quarrel with each other

e TFAR PIY AT B, T AN —

(A) A 97 T8 A B | (B) o= w@ref @ 91 B B |
(C) &< fAety & giv <a | (D) 9T H FTST B & |
How to improve Education?

(A) By administrative reform (B) By changing the method of examination

(C) By spending more money on education (D) By recruiting best teachers
Rrem # guR fow yeR w9a 87

(A) YRS JUR §RT (B) TRl ugfad # uRads axa
(C) T3 R e o9 &g &vd (D) = el @ Fgfad o=
If the students do not understand the text the teacher should -

(A) Explain again (B) Start next lesson

(C) Talk to Principal (D) Ask questions

BIE I UT6 AHST H Tl 37 UR gud dl arfed b —

(A) TR HAHSIRRT (B) STl U3 Yo PR ol

(C) YT | 9T BT (D) U gBI

What should teachers do to get rid of theft habit in students -

(A) Explain ill effects (B) Explain with example

(C) Give punishment (D) Scold

BE H AN B 3fed GeM & o1l 3eATadh DI a1 HRAT AMMeA?

(A) 3R gam anfed (B) STTExUl SR FHIAT a1
(C) 9l &7 =fEd (D) TSl <br

Selection of subject requires -

(A) Scholarship (B) Educational guidance

(C) Professional guidance (D) Choice of students

fawat & = @ ford amavasd § —

(A) fagar &1 (B) s faces o

(C) gafe e @ (D) BTl B gTOT B
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125.

The teacher gets good information about the events of Country and abroad -

(A) From history books (B) From Newspapers
(C) From radio news (D) From world tour
JEATIH BT QI — AT B TR B 8! THGN U Bl & —
(A) e &1 qedal 4 (B) HHRR-93 ¥
(C) ST =R A (D) favg g9qor 9

126. While teaching in the class, the teachers should —

127.

128.

129.

(A) Seek active cooperation of the students.  (B) Keep the students as passive listeners.
(C) Do not pay any attention to the students. (D) Remove the difficulties of the students.
welT H yerd 9Hdy, el @1 anfdy —

(A) BE & AfHT AEANT &1 WA B | (B) BET &1 AfmT SRl & ®U § 79 |

(C) BE R BIS &4 7 ¢ | (D) BE $I FHfeArsdl Bl T BN |

To motivate students in the class, the teachers should —

(A) always praise their students.

(B) always criticize their students.

(C) judiciously use praise and criticism.

(D) give such comments which neither indicate praise nor criticism.

HefT § BHEl BT URT A & oy, Rierd! &1 @y —

(A) BHIM AU BT DI AT BN |

(B) EHIM U BT &I ATATET PN |

(C) g | yeiar SR AT BT SUANT BN |

(D) U fewfora § S 71 € \xrEAr iR |9 8 sraredng sfa &Y |
During teaching in the class if a student asks question, the teachers should —
(A) give correct answer immediately to him.

(B) ask the student to come after period for the answer.

(C) scold him and tell him not to disturb the teaching.

(D) not pay any attention and continue his teaching .

HeAT H UgM & SR US BIF U yBdr 2, Rierd &1 anfee —
(A) S ThIel el a9 |

(B) BTF & SR & [V BT & d1g 3 & oy &g |

(C) 9 Sic 3R S wr Rt § aren S 7 B |

(D) BIS & 7 < 3R 0+ RBreror &1 o) W |

The basic responsibility of teacher in the class is —

(A) to promote learning in the class.

(B) to extract school’s fee from the students.

(C) to arrange the records of the students of the class.

(D) to give extra importance to the students having tuition.
HeT H s B g Rery & —

(A) e | JAfRITH B 9T |

(B) ®F ¥ fdemer geb aqe |

(C) e & B & RETS BT FIRYT HeAT |

(D) <Y dTel BTH B G Ag<d AT
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130.

131.

132.

133.

A class teacher is expected to behave with his students —

(A) more loving with intelligent students.

(B) reluctance towards poor students.

(C) equal behaviour with all the students.

(D) behaviour according to the expectations of the students.

T FHefl R1eTd BI 10 Bl & I FIER R Bl IHE & —
(A) IfEHE BHEl & A S AR |

(B) "RId BET @ Uf 31T |

(C) ¥ BTFI & AT FHM AAER |

(D) BEl @ SHIR] & ITAR AR |

The teacher is considered to be the guide, because —

(A) he has unfathomable capacities to build the future society.
(B) he is a symbol of social belief.

(C) he is a guard to the society.

(D) he is indulged in giving shapes to frustrations.

R1erds BT ARt gefF AET S 8, w®ife —

(A) SGH 9w & Fa1 & AT B srerng eHar €1

(B) d& wmIfore favar &1 Wi 2 |

(C) 98 |A & oy Y& IHaTall & |
(D) T8 HIWI BT MHR a7 H fooed 2 |

Teaching should be mainly done by —

(A) Skilled and trained teachers (B) Untrained persons

(C) Experienced teachers (D) Young talented persons
R1eTT =9 I oo gRT fhar S =3y |

(A) | 3R yfferd Rierenl (B) 3uRRiér <afdaa

(C) argwdl fRierepl (D) gar yfcwrerell afdaar
To inculcate human virtues among students as a teacher —

(A) you will not do anything wrong so as not to send wrong message to the children.
(B) you will reflect all those virtues, which you wish to imbibe.

(C) you will continuously tell them and make them understand.

(D) you will bring change in the children to suit the present context.

v Rierd & wu # BEl § A o fAERia a1 & forg —

(A) MY §B |l TAd T8l Sl difs = Bl Teld Gl 1 9T |

(B) 3 39 W1 Ui oI ufafdfad w¥r, = M SerTd Rar Aed # |

(C) 3mu I8 AR gded 3R S8 FHeu |

(D) 39 I AeH B HY dedl § deeld o |
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134. The monitor of the class should be —
(A) The most popular student of the class. (B) The loving student of the teacher.
(C) The most powerful student of the class. (D) The extrovert student of the class.
PeTT BT Hi-IeX BT AT —
(A) HET BT TI9 ATHHy faemeft | (B) et &1 =Ry faemedf |
(C) el BT Fa9 vIfademmen faemet| (D) el &1 giewr faemef|

135. Teacher can develop moral values in students, because —
(A) Teacher has ability to motivate students.
(B) Teacher is role model for students.
(C) Students have fear for teacher.
(D) Students follow every instruction of teacher.

R BEl # Afdd qeai &1 faefid &) dad &, wife —
(A) Prre ¥ faenfear o1 uRd &= P awar 2 |

(B) forere faenffat & forv amest &

(C) faenfial # Rere @ ufy wa &ar 2

(D) faeneft Rere & yds Ay &1 ure= & 2 |

136. Suppose a gifted student is sitting in the class and gives quick answers to all your questions.
What would you do with regard to your student?

(A) you will ask comparatively difficult questions and persuade him not to become
impatient.

(B) you think that he must give all the answers quickly so you can feel a sign of relief from
your responsibilities.

(C) you will tell him that this is an unhealthy behaviour in the class.

(D) you will ask difficult questions to answer so as to make him realise him that you are
among one of the best teachers.

A SAIfSTY 3Ie] Herm H Yeb URITIITel BT d3T 2 3R 37U T4l Ui & @Rd IR

AT 2| 37T IO BE B G H T HA?

(A) 3T JoAS B F BfoT UL Y87 3R SN R 7 8 & oy #-me |

(B) 1Y §Hed & fb SU QRa 94l SR < o =12y difds 3y sroeil RpweRal & qad
& D |

(C) 3MI S Hed o werm # rfR BT Srfugad @aeR £ |

(D) 3y femed ¥ e Sifed ue qud 9y S I8 g9 & & Y 999 3
el § 9 P 2|

137. This is believed that female teachers are more suitable for primary level teaching because —

(A) They work patiently and affectionately with children.
(B) They have less opportunity for other professions.

(C) They agree to work on low salary.

(D) There is no need of high qualification for this profession.

YE AT ST & b Aften Retd yrfie wR o Ren & foy sifde Suged &, wifed —
(A) 995 & 91 SRiydd IR UR | B BT € |

(B) SFd UK I AR B U HH AR 2 |

(C) d ¥ I WX HH B D foly Teqd sial 2 |

(D) 39 U B U S=a Jrgar &1 bIs AGIHAT Tl B |
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138. When you instruct a person to close the door and he strictly follows the instruction, then it
can be concluded that —
(A) You have given an effective instruction.
(B) The message has been received by the receiver.
(C) The message has been well explained by you.
(D) The receiver is ready to accept your order.

STg 3y fhi aafdg @1 gRamT d€ A BT Ay 30 € IR 98 der 9 Ay &1 ureH
AT & a1 IJg py Harenr o awar ® b —

(A) 3= U gardT e fear 2|

(B) H<W UTE §RT 9T fobarm 3m 2 |

(C) MU | Hell 9ifdy e fhar 2|

(D) TS 3MYSH AT BT WIHR A B oIl TIR B |

139. Communication in classroom depends on —

(A) Teacher’s ability to explain (B) Difficulty level of Subject
(C) Student’s ability (D) Class — room interaction
FeT BT H daR R dRar g —

(A) Trers & W HA P eHdT W) (B) fawy &1 #feaE R )
(C) faenferi @ Iraar (D) eTT Jid:fhar IR

140. A teacher should —
(A) Earn money as much as he can.
(B) Make efforts for educational upliftment of students.
(C) Work for students benefits.
(D) Take care of students.
U Rt ®I BT ARy —
(A) SNfFHIE ATFT § &9 HAAT|
(B) ®BE & e I & fory v |
(C) BEl & f&a & &4 |
(D) BHEI B @I |
141. The reason of highest rate of dropouts in rural areas is —
(A) Irrelevant curriculum
(B) Poverty
(C) Eagerness for quick employment
(D) Inappropriate interpersonal relations with teachers
rfoT &3 H fAene Bre drdl &1 |alftd &% BT HIRT & —
(A) IUTERT® IIgaHH (B) TNE
(C) «Rd ISR & forg Isgaar (D) TRreri & |1l U URWRS Fdg
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142.

143.

144.

145.

How can a teacher establish warm relationship with his students?
(A) Always laughing with them.

(B) By making suitable distances.

(C) By hearing their difficulties and resolving them.

(D) By making students his friends.

v Rietd oo BTAT ¥ MR WeY fhd UHR wnfid #R Adhdr 57
(A) ST Wad gl 79l BRb |

(B) S99 3Ifa g R |

(C) ISP FHHRAT I G- & g1 IAD] e B |

(D) BTET BT AT 77 g9 |

If some poor students want to study in extra time from you, then you —
(A) Ask them to take tuition.

(B) Keep them off.

(C) From time to time meet their difficulties as needed.

(D) Send them to another teacher.

It o frefF o e ifaRed w9a # ugem ared €, df e —
(A) DI TYE o B forg wE |

(B) S erald & |

(C) ATTTIHAT ATAR THI FHI TR AP HfoAAT DI GRT BN |
(D) S B o= s & urd woii |

During the educational journey, a student fights with an old man about the place of seating,
then, what will you do?

(A) will take the side of the student. (B) will explain him to respect elders.

(C) will ignore it (D) will interfere to resolve

Qs A B IR 7 I T8 Pl bR Uh BIF Bl 9§ A TS dodl &, df H —
(A) B & U | (B) S GHMST fh g1 &1 oMeR X
(C) SV IFSWT HHT| (D) fuer & forg g@e g

It is necessary to give details of the student’s progress to the parents so that —

(A) Parents can know the progress of their children.

(B) This gives proper guidance for parents to organize tuition.
(C) This keeps children in fear.

(D) Children can not give wrong information to their parents.

BTl BT I BT ART JHHTGR] BT AT ATTIH & —

(A) U AMHTETS U g2al B YA S Fhd & |

(B) SUY AffwTads &7 egee o @l Sfad wereg e 21
(C) 9% g=ai § SX 977 &l & |

(D) g=0 AMAYTEDl BT TAd SRR 8] & Fobd |
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146.

147.

148.

149.

150.

If you are evaluating, then you will —

(A) provide marks according to the work.

(B) give more marks to those who study tuition from you.
(C) give rich students more marks.

(D) give more marks to weak students.

afe MY HIH- H B &, °f M7 —

(A) B & ITAR & 3jb Y& BNl |

(B) S b sib & S MR g UG § |

(C) 3R BT &I 3IfdH b < |

(D) fIws BEl B Af¥F 3fd |

A teacher should use audio visual material, because —

(A) Student’s interest is created in the lesson.

(B) The focus of student’s attention remains in learning.

(C) It helps in realizing knowledge and diversification of text.
(D) All of the above.

U AP DI GeI—4 AR BT GANT BT A1y, Rifs —
(A) BHET $I U8 # B IEdl 2|

(B) ©THI &I &I UgIE H dfvgd &l & |

(C) ST & adfdd ®Y YSTH B} g U6 ¥ fAfaedr o= o Terae Bl & |

(D) SURIGd T |

Class—room communication should be —

(A) Teacher—Centered (B) General-Focus

(C) Learner—Centered (D) Test book—Centered
HeT—dhel FRIYUT BT AT8Y —

(A) frers afsa (B) WM divad

(C) BF Bfad (D) UTBIYKIH diad
While using ICT with teaching in class —

(A) No teacher will be required

(B) More work load will be there for the teacher
(C) Teacher’s role will be as a facilitator

(D) Teacher’s role will be central

e fRreor # ICT Ygadd $H_d 9d —

(A) AAYDH P MILIGT 8] =] |

(B) s & foIT SRR 3rfdrd B S |
(C) IJIeATIDH B YABT FIGIH & wU H = |
(D) SEaTgd B YHdBT Heg B S |

The status of teachers in the society should be high because they -
(A) Do great mental work (B) Meet people of the society
(C) Prepare future citizens (D) Do more labour.

TS | Rerel &1 TR S 8191 ARy, wife 9 —
(A) TS ARG B B ¢ | (B) TSI & @l & fAerd &1
(C) WY ANTRBT BT IR B & | (D) i 5\ &Y 2|

NKP-2018 (Series-A) Page 25 of 32



151.

152.

153.

154.
138,

156.

157.

Part-D
Language Proficiency-English

Direction : (Q.151) Choose the option that is correct-

The teacher was too angry that she left the classroom-

(A) The teacher was very angry that she leave the classroom.

(B) The teacher was so angry that she left the classroom.

(C) The teacher was too angry and she had left the classroom.

(D) The teacher was too angry but she leave the classroom.

Direction : (Q.152) Choose the option with the word that is closest in meaning-
Abandon-

(A) Try (B) Join (C) Forsake (D) Adopt
Direction : (Q.153) Choose the option with word opposite in meaning-
Entangle-

(A) Twist (B) Untwist (C) Hook (D) Impede
Direction : (Q.154) Choose the correctly spelt word-

(A) Abbreviate (B) Abreviate (C) Abrreviate (D) Abriviat

Person who loves books and reading -
(A) Philologist (B) Bibliophile (C) Misogynist (D) Misologist

Directions : (Q.156-159) Read the given passage and answer the questions that follow-

At this stage of civilisation, when many nations are brought in to close and vital contact for
good and evil, it is essential, as never before, that their gross ignorance of one another
should be diminished, that they should begin to understand a little of one another’s historical
experience and resulting mentality. It is the fault of the English to expect the people of other
countries to react as they do, to political and international situations. Our genuine goodwill
and good intentions are often brought to nothing, because we expect other people to like us.
This would be corrected if we know history, not necessarily in detail but in broad outlines, of

the social and political conditions which have given to each nation its present character.

Mentality of a nation, according to the author, is a productof ................

(A) Present character (B) Politics (C) History (D) Geography

The character of a nation is the result of its-
(A) Ignorance (B) Cultural heritage
(C) Socio political conditions (D) Mentality
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158.

159.

160.

161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

The need for a greater understanding between nations-

(A) is more today than ever before (B) was more there in the past
(C) isno longer there (D) has never been there
‘Genuine’ in the passage means -

(A) Historical (B) Political (C) Real (D) Fake

Directions : (Q.160 - 162) Choose the correct alternative -

............... car must be insured.

(A) A (B) An (C) The (D) Al
Everyone expected the same team ...............

(A) towin (B) was winning (C) won (D)  will win
It took IONGET ..vvovvncnnsnsmmoanennnss [ expected.

(A) though (B) but (C) than (D) then

Directions: (Q. 163 -164) Change the following sentences as directed in the brackets-
Only a coward would say so. (Transform into Negative)-

(A) Not even a coward would say so (B) None but a coward would say so
(C) A coward would only not say so (D) No coward would say so
Mohini is more beautiful than Mitali. (Use positive degree)-

(A) Mohini is not so beautiful as Mitali. (B) Mohini is rather beautiful than Mitali.
(C) Mitali is not as beautiful as Mohini. (D) Mitali is as beautiful as Mohini.
Directions: (Q.165) Choose the correct Tense-

| O, the stadium long before the match.
(A) reach (B) was reaching
(C) had reached (D) had been reaching

Directions: (Q.166) Change the Direct narration to Indirect narration-

She said to me, “What are you doing?”

(A) She asked me what was I doing (B) She asked me what am I doing

(C) She asked me what I was doing (D) She asked me what were you doing
Directions: (Q.167) Choose the correctly spelt word-

(A) Dicease (B) Disease (C) Desease (D) Diseese

Directions: Find one word for the group of words given below-

A person with long experience of any occupation-

(A) Veteran (B) Wizard (C) Genius (D) Expert
Directions: Choose the correct Synonym of ‘Eradicate’

(A) Emerge (B) Uplift (C) Remove (D) Increase
Directions: Give the correct Antonym of ‘Compassion’-

(A) Anxiety (B) Hatred (C) Connection (D) Conducive
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171.

172.

173.

174.

175.

176.

177.

178.

179.

180.

181.

182.

183.

184.

185.

HT—<

ATYT YT :

fa=dt
o7 i BT T qren famey 8—
(A) g (B) WS (C) Tarsm (D) ¥WEIEM™
fr=foRaa & 9 s Y e wd 78 &—
(A) 3fY + A® (B) Y + 34 (C) fa+ @H (D) &+ =9
‘BISEE’ ¥ B Fel A faug g—
(A) T & o e (B) PIST &7 &3
(C) spreT 3R &= (D) IST 3R &5 BT T e
FHIRY A B S drelT fddeq 28—
(A) eAdHe (B) Bryga= (C) SR (D) HISTEIRT
A, B9 SR 3T’ B S aTell ST 83—
(A) SU (B) 2@ (C) wfa (D) afd
faesh W & ST | 997 g B—
(A) TREHR (B) RUT (C) Tz (D) TR
qTaarad dfgd Uedd o 94 35 DI g dTell fabed 28—
(A) UFER (B) g=ar= (C) aferdr (D) THSERT
JRT BT A qTAT e AR B—
(A) UdH (B) @Y (C) HIg (D) SIEdg
DT R g ‘HHA BT GIar g
(A) o, Seab, wferel (B) fafra, gy, amery
(C) 3rafy, &ioft, Afe=i (D) e, AR, Idad
fauTe vt &1 fAuRIaRI® g 8-
(A) T3 (B) dx& (C) SmEeg (D) wJfa
P97 fadey faem wreal & &l gerdr 8—

(A) wHE—fagE (B) TRA—afET  (C)
RR—IR’ wreg g7 1 1ef B -

(A) WIbICT—dTHS] (B)
(C) AHE—H&hH (D)

HAM—FIRT (D)  IAT—FaRET

g AT dh— I
Jg— BT

STRI T, IYAT 98l ©, 98 < SUNS o | a9 o

(A) WERT G (B) Wgad @ (C)
1 7 & fra fAwen & o wres g 8-

(A) UT:®Id, ST+ (B)

(C) fagw, st (D)
T B—

(A) T& W HIaT dret 3T | (B)

(C) =it W BT g q| (D)

81 ara (D) feErEsd areT

C AN
qreHIfe, ghTS

T US gfgHT arferat § |
AT JHTcihdral HRT T |
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186. fH¥Y a%g ®T U B Iche AT BT QT ATl HETaRT 28—

(A) 3igl & T (B) 3i¥ IR BFT
(C) SifEl # @ IaRAT (D) i e
187. "“HIH—HRT TR I8 UM, TR BT T oo " fFa 9t SIS Bl T HRAl
-
(A) eafs (B) reT (C) dreil (D) forfa

188. 71 ¥ argg omeilRe @vs &—
A) F+9=& @B T+I=F (C) T+I=% D) Y+3I=4
189. THH—TGHT BT AYE T o—
(A) sg-3s9 (B) SSIHI—3FSIHT (C) Tel—gerrddl (D)  &fe—qu
190. "SH9 ASTE I 8" | 91T H P 9SG ©—
(A) IHRI d@dTd (B) M~ fddrad (C) Yol YddTidl (D) MR I Hlel
191. =1 & Jraaraed Gsm A8l a—

(A) d9UA (B) R (C) 95® (D) UHdr
192. " e uedt ® arfes Swat ufoandt odiem # =99 & Sy | X@ifed ug 8-
(A) <eer dEd Iy (B) St ddh RISV AT drIdH
(C) ISR ey e (D) fAur
193. % S &M @ &' | 919 H ‘qo TAN B
(A) Thaa+d (B) 9gda+
C) UHIad & M U Igaad (D) 9gF9H B WM W UHda
194. SEee gy 9 fAffa v =€t 8-
(A) wiRgeT (B) usSIRM (C) d&s (D) Yadr
195. /=1 ¥ og[g wafaTel 9YE &
(A) PR o=, (B) oFI, Uy, ger
(C) guiyy, fewiy, @r=me (D) RS, 9IRS, STl

196. =1 % g fagianeft a9 2
(A) ue—yfcue (B) MMRTH—RTH (C) Wi—R&E (D) WHT—IHER
197. g&d, ¥ faRw, 3, @, ge1 fovw sl & aref &—

A) IR (B) T (C) ¥R (D) 9RTA
198. g AT dleIdh U el o—

(A) S SidT 5 S 9 : ST (B) 3MMHTI H I dTell @ &

(C) g foram garm : &< (D) S RRT g2 81 : gferd
199. & B BT T4 feiderd GeTavT o—

(A) 3JFd BT G (B) 379 WX URR U

(C) Fdl & =TS ST (D) A BT Yoall

200. “Hag FRIAY 87 7 S| ADIfdd &1 el 8—
(A) gl &l fzdr v v 81 ol 81 (B) g% (U gRedT Ael uled |
(C) T & A RT IR FHAT | (D) BIY 3R g |d SRTE UIY I 2 |
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171.

172.

173.

174.

175.

176.

177.

178.

179.

180.

181.

182.

183.

184.

185.

186.

HIYT FIAdT : H¥hd
YHRE] TR RIHART—
(A) i (B) dieg (C) = (D)
s gof: 3flRd—
(A) TPR: (B) daKR: (C) SHR: (D)
urey: fhardn ........ e /" Raa: eI wafa—
(A) og; (B) U=t (C) foam (D)
AR ITHT: Bicr?
(A) IICTEI: (B) garfdurfar: (C) UTdHfdwf: (D)
I gARAT IS Gepfryegar IT—
(A) =T+ Iq (B) <+ Iq € T+3q (D)
“gard faefra sfa “ R = 31—
(A) ©rg: (B) e (C) 3wy (D)
IR SRS U YHAUdT: ANT—
(A) ¢+ vaq (B) €T + vaq (C) o + vaq (D)
HYPHGIRT ATOIHIRT SMER: BRBH .o RITq—
(A) PH: (B) HHEMH (C) STUTETH (D)
sureTIfRfasRfaaféiad oRe &1 |6 Wa?
(A) 3MUEFH (B) \RIGHH (C) ®H (D)
HEYdl &: FHE:?
(A) BHEIRY (B) 3rarRiva: (C) daqYzy (D)
(A) ga=<d f& (B) a1 (C) =TEiaw= (D)
fagreof faersor g ITERIHRG—
(A) TTII: (B) $HYIW: (C) er@e® (D)
e 341" 313 &1 |=T YaTid?
(A) fa (B) AN (C) weTH (D)
YR T T USTAR VB oo BT Afer?
(A) & (B) @TH (C) faw: (D)
SUIE e WX QURARD! BT AT WG~
(A) ggfor (B) WEdH (©) T (D)
Rraisal’ safRae S dR-fawms: &2

(A) Rmar + = (B) Raw + 8= (C)

fBra: + am=: (D)
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187

188.

189.

190.

191.

192.

193.

194.

195.

196.

197,

198.

199.

200.

L ® g ARfaeeReE STHYPYE gldgad wY wiasfi—
(A) o (B) wam™ (C) BIH (D) Hata

g 3 ue argaered fa—
(A) ¥l + dIcaddR (B) ¥l + geaddR (C) 1 + dsadR (D) 1 + Rfforsaer

M e AH favad: wusiRa—

(A) Y (B) My (C) W (D) THIUIH
=y rgg araARa—

(A) STerfaRdm: (B) fagwa: <

(C) U el (D) ®BTAU TYTeT: YSaH:
BRI HIf~d—

(A) 9= (B) W< (C) 9w« (D) 3=
YEHEn: fauraed e Sifka—

(A) IMfER=IT F&aT(B) TAIST<IRT |ANT: (C) T < ueq (D) WR: Af~Ty: wfea:
Tgdife AHTARI T FAeTo 3fRe—

(A) STRUGRIUY: (B) YdUaRiUe: (C) IUUSREM: (D) SYIUGTRIUH:
T g wafa—

(A) ¥g-¥E  (B) dw-awag  (C) dw@—e@d (D) T

TP SR U URHfauIAT: AT—

(A) T + AR (B) X+ 37 C) g +4el (D) T+ °3

=y ey gg—ara il

(A) B BRNSPSTRIT (B) &M hIElSRI

(C) BT BRSPS (D) HHER BIRNSESRT

qrad:’ g ge affdess: ailRa—

(A) U + 3P (B) Ul + 3@ (C) Wr+3md: (D) U+ AP

qIfddeR: &:?

(A) Trfor= (B) UdSIfel (C) HrAarad (D) RIS

JMRIIR YIAT: Hidider: |f=?

(A) Bfder (B) =dfder: (C) udfder (D) wsfder

Forreaw ggdi—agaeay wu wfasfa—?

(A) HARIH (B) WelRE: (C) ®Had (D) Wl
Wi
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